STD. |

Addition Story Sums

1. A farmer has 25 mango trees and 32 banana
trees. How many trees in all?

A class has 20 girls and 18 boys.
How many children in all?

3. Rahul has 32 storybooks and 13
school books. How many books does
he have in all?

Ann has 24 sweets. Raj has 35
sweets. How many sweets do they
have in all?

5. A man buys 40 red roses and 36 white roses.
How many roses does he buy?

Bala has two bunches of grapes. One bunch has 54
grapes. The other bunch has 42 grapes. How many
grapes does he have in all?
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